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1. Let X be the set of all persons living in . 4. Consider the following statements in
Delhi. The persons a and b in X are respect of the determinant
said to be related if the difference in
thelr‘ ages is at most 5 years. The 0 0
relation is cos 5 sin

2

(a) an equivalence relation

(b) reflexive and tranmsitive but not sin? g coszg

symmetric
(c) symmetric and transitive but not where a, f are complementary angles
reflexive _
(d) reflexive and symmetric but not 1. The value of the determinant is
transitive 1 (a-
INE)
\2 2
1 3 2
2. The matrix 4=|1 x-1 1 2. The maximum value of the deter-
2 7 x-3 _ |
minant is T
will have inverse for every real number x 2
except for
’ Which of the above statements is/are
@) leli“/g correct ?
2
9145 (a) 1 only
(b) x= 5 -
(b) 2 only
11%43
{c) x=
2 _ (¢) Both 1 and 2
@ x= # | (d) Neither 1 nor 2
a 1 1 5. What is (1000000001), — (0-0101), equal
to?
3. If the value of the determinant |1 &6 1
1 1ec (@) (5126779),,
is positive, where a # b # ¢, then the value
of abe ' ‘ (b) (512:6875),,
(a) cannot be less than 1
(b) is greater than —8 {c} (5126975},

(c) 1s less than —8

(d) must be greater than 8 (d) (512'0909)?0

B-QGC-O-REV - A 2




1. W R xRt F oA
Zferat & T € | X & o 3R phs
TRER i F 9 §, afe 3wy g #
aftrmam 5997 @7 3R ® | 98 WEy

(a) TS goAa HEY R

(b) I IR GehiHa & R GG 78 &

(c) wmfia sk demms € W Ege T

(d) g oK AT} R aFEE AR Y

1 3 2
LIEE A=(1 x-1 1 | ¥ wdH
2 7 x-3
areatas g x & fo wfamm g faeg
ﬁﬂﬁ%ﬁ%ﬂx%%ﬁﬁﬁm?
@ leliJ?-
2
© x=9iJ§
2
11443
{c) x= 5
@ x=9iz~f§
a 1 1
AR P |1 b 1| @ W@ g R,

11 ¢
R a=b#c, A abeH A
(a) 19 =% 72 & w=ar
(b) -8F TR

(c) —8% BT 2

(d) sEwm A =TTR

2 &
2

,
cos*— sin
2

4. TforE F W #, o=l

2 B cos? E
2

sin

o, B T B, Frafrfem wE w
e e -

1. grfires %1 || —j?cos(a;ﬁ] g1

2wﬁmamarf€1wm=r(%|

SUh ol # i w1 /0 e B /R
(a) a1

®) 2

(©) -1 3k 23 &

(d AdL,IRN2

. (1000000001), — (0- 0101)2 frash st=R

27

(@) (512:6775),,
() (512:6875),,
(©) (512:6975),,
(d) (512:0909),,

A - B-QGC-O-REV




1 0 =2
6. IfA=[2 3 4}, then the matrix X
for which 2.X+ 34 =0 holds true is
~% 0 -3
(a)
Dl 22 6
i 2
[3
> 0 -3
(b)
3 -2 6
|7 T2
% 0 3
(c)
3 2 6
T2
2
(@)
3 2
i 2

. If z; and z, are complex numbers with

|zl|=|22], then which of the following
18/are correct ?

l. z, =2z,
2. Real part of z; = Real part of z,

3. Imaginary part of z, = Imaginary
part of z,

Select the correct answer using the
code given below :

(a) 1 only
(b} 2 only
{c) 3 only
{d) None

B-QGC-O-REV - A

8.

10.

1 1 -1 -1 -2 -1
IfA=|2 -3 4 |andB=[6 12 6 |,
3 2 3 5 10 5

then which of the following is/are’
correct ?

1. 4 and B commute.
2. AB 15 a null mauix.

Select the correct answer using the
code given below :

(&) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither T nor 2

The number of real roots of the equation

x2—3|x|+2=0is

(a) 4
(b) 3
() 2
@ 1

If the sum of the roots of the equation
ax* +bx+c¢=0 is equal to the sum of
their squares, then

(@) d+p=¢

M) a+b=a+b

(¢) ab+ b =2ac

(& ab— b =2ac
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1 0 2
6.?%A=L 3 4:I,Fﬁﬂ‘13£€)ﬁﬁiﬂa§
feox+34=0vuwd, 7 ?
-g 0 -3
()
-3 _9 -6
L 2
2o
(b) :
3 2
2
3
(c)
3 2%
L 2
_2 0 3
@ :
LHB 2 -6
2

7. 7 2, 3R 2, 70w A wfidey deard & 5

|z,]=|z,|, @ Frafafes 3 & S a/a

W /8

L z,=2z

2. z]a:rmmﬁaﬁwquamamﬁm
E|

3. zlﬂﬂﬁﬁi@ﬁm"—‘zzﬁaiﬁa?ﬁ\qa
AR

R ™ 3w W W E IR

I

(a) ¥ 1

(b) a2

(c) Fae 3

@ = W 77

1 1 -1 -1 =2 -1
8. aﬁA{z -3 4}3ﬁtB=k6 12 6}

10,

3 -2 3 510 5
&, Arfmffm dd /At 2 2

1. AR B anfafm =3 § |

2. ABTS Y 3T B |

R @ W™ g T o R aE W
TR

(a) %9 1
(b) & 2
() 13R23 &
(d aAL,I A2
x? = 3|x|+2 =0 ¥ Areates @t
FY aear T 7
(a) 4
®) 3
(0 2
@ 1
afe TR ax?+ bx +c=0F At o
ARTHS IAF AT & AR & SR &Y,
() a+b'=¢
b) F+b=a+b
(¢) ab+b =2ac

(d) ab-b*=2ac

A - B-QGC-O-REV




11. If Az{xe 1R:x2+6x—7<0} and

Bz{xem:x2+9x+l4>0}, then

which of the following is/are correct ?
L (AnB)=(-2, 1)
2. (AAB)Y=(-17,-2)

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

12. A, B, C and D are four sets such
that ANB=CND=¢. Consider the
following :

. AvCand BuD are always dis-
joint.

2. AnCand BN D are always dis-
joint.

Which of the above statements is/are
correct ? -

(a) | only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

B-QGC-O-REV - A

13.

14,

15.

16.

IV. CAREERINDIA

If 4 is an invertible matrix of order n
and k is any positive real number, then
the value of [det(kd)]” det 4 is

(a) k"

®) &'

(c) &

d) nk

The value of the infinite product
6%x6%><6%><6"]‘-><.... is
(a) 6

) 36

(c) 216

(dy o

If the roots of the equation

X-nxt+tm=0
differ by 1, then

(@ n—4m—-1=0
(b) iA+dm-1=0
(© nt+4n+1=0
(d m-4n-1=0
If different words are formed with all
the letters of the word ‘AGAIN’ and are
arranged alphabetically among themselves

as in a dictionary, the word at the 50th
place will be

(a) NAAGI
(b) NAAIG
(c) IAAGN
(d) IAANG

rad
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11. 3l A={xem:x2+éx—7<0} R

12,

B={xe]R:x2+9x+l4>O} '6‘?,3'1
frffaa d @ S a/a wdi 8/8 7

L (AnB)=(-2, 1)
2. (A\B)=(-7,-2)

™R ™ e W R e sw
T ;

(a) et 1
() W= 2
(© 13dk23 &

) T, G2

A4, B, CHR DI ¥aR & 9K aq==7 & f&
ANB=CnD=¢ % fmfefe =«
Pﬁl‘l(ﬂﬁﬁﬁq:

1. 4UC ¥R BUD ueT Fugew § )
2. AnC #R BN D w¥a 3w |
ST FuAt A S /A AR 2/ 2
(a) ¥ 1

(b) et 2

() 13R23 &

(d AL, F 82

13.

14.

15.

16.

afe 4, n @ = gt g 2
AR & W S At den 2, ar
[det(k4)] ' det 4 =1 AF =T & 7

(a &7
b) &'
(c) ¥
d) nk

AT RS G%xﬁflxﬁgxé"%x....‘qﬁ‘l
A TR 7

(@ 6

) 36

(c) 216

d «

s aeian

Z—nx+m=90

& Hel &1 HaT 1],
(@ 7 —4m-1=0
() n*+4m-1=0
(©) M+dn+1=0

@d m—-4n—1=0

e AT AGAIN’ F asit arei F areqmr-
HET Y6G FATY A AR = A9 H avfgrw
§ wrma s, frg vew weeEy & g g,
at 509 M W FH T e AT 7

(1) NAAGI
() NAAIG
(c) IAAGN
@ LAANG
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17.

18.

19,

The number of ways in which a cricket
team of 11 players be chosen out of a
batch of 15 players so that the captain
of the team is always included, is

(a) 165
(b) 364
(c) 1001

@ 1365

10
In the expansion of (\f; +5lz—J the
X

value of constant term (independent
of x) is
(a) S
(b) 8

(c) 45

d 90

The value of
sin® 5° + sin’ 10° + sin® 15° +
$in’20° +..... + sin’ 90°
1s
(a) 7
(b 8

{(c) 9

d) —

B-QGC-0O-REV - A

20.

21.

22,

On simplifying
sin® 4 + sin3 4

sinA

cos’ A~ cos3 A

cosA

b

we get

{a) sin34

(b) cos3A

(¢) sind +cosA

@ 3

The value of tan [Ztan"é——fﬂ is

(a) 17

® >

5
() Z
d —

Two poles are 10m and 20m high.
The line joining their tops makes an
angle of 15° with the horizontal. The
distance between the poles is approxi-
mately equal to

(a) 363 m

(b) 373 m

(c) 383 m

@ 393m
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17.

18.

19.

15 et % o= qm # & mwe Rgenfedd
& forbe O frem alt @ 3 W
TEHal 8, dlfr dW 1 A TAwT SO
a8
(a) 165
(b) 364
() 1001

d) 1365

(w/;+3%2-]w%mﬁ, (x & =)
FRITHTE ?

(@) 5

® 8

(c) 45

(dy 90

sin® 5° + sin” 10° +sin® 15° +
sin® 20° +..... + sin® 90°
FAA R ?

(@) 7
(b) 8
) 9

19
@ —

20. sin® A +sin3 4 N cos’ A—cos3 A 2 A

sinA cosA

F W g W B ?
(a) sin3A

(b) cos3A

(c) sind + cosA

@ 3

. tan(2tan_lé—§] FAARFATE ?

7
(@ -3

17
by —

5
{c) Z

@ —

LI0mIER 20mIAE F 8 wN €| I

sieY Y A 1ol Y &f F | 150 F:
FI AT ¥ | WHT S Y gl e
foraas aoer R 7

() 363m
® 373m
(c) 383m
(@ 393m

A - B-QGC-O-REV
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23.

24,

25.

1
J(x)

which one of the following is cormect ?

(@) Sf(S(ee(fS MM
= g(g(f (&S (M)

) A Slgle(e(f M)
=g(e(f (S (M)

© Aelf(g(fEE@M)
=g(e(f (/MM

@ U e emN
=f (UGN

If g(x)= and f{x) = x, x#0, then

Consider the following :

wlw

1. sin”! i+sin’
5

(SN

2. tan”'43 +‘tan"' 1=—tan™ (2 +-«/§)

Which of the above is/are correct ?
(a) 1 only

(®) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

If A is an orthogonal matrix of order 3

1 2 3 .
and B=|-3 0 2|, then which of the
2 50

following is/are correct ?
1. |[4B|=+47

2. AB = B4

B-QGC-O-REYV - A

10

26.

27.

28.

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(¢) Both I and 2
(d) Neither 1 nor 2

If a, b, ¢ are the sides of a triangle

L N
ABC, then a” +b” —c? where p> 1, is

(a) always negative
{b) always positive
(¢) always zero
(d) positive if 1 <p <2 and negative if
p>2
If a4, b, ¢ are real numbers, then the
value of the determinant
l-a a-b-¢ b+e
1-b b—c—a c+alis
l-¢ c—a—-b a+bh
(a) 0
(b} (a-b)b-c)c—a)
o) (a+b+cy
@ (@+b+c)

If the point z, =1+ { where [ = V-1 s
the reflection of a point z, =x + iy in the
line iz—iz=35, then the point z, is

(a) 1+4
(b) 4+1:
{c) 1-i
d -1-i
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25'

23,

24,

afg g(x)=7,-iz—) IR f(x) =x, x =0, ?ﬁ

faffm it s o wE & 7

(a) S/ (ge(f N
= g(g(f (/NN

) f(flglgle(f (M)
= glg(f e/ (NN

() e/ (gle(f(gIMN
=g(g(f @SN

@ SUS NN
=f(f(FefGNM)

Frefafa R e ifim

1

T B
1. sin l§+sm

W
YRS

2 tan”'V3 +tan” 1= ~tan ™ (24+3)
gofes & A wiH w1 /3 ad 8/ 7
(a) Hael 1
(b) F= 2

(c) 1329 &
(d AL, ATE2

afg 4, ®fe 3 T wifew g € ok
123
B=|-3 0 2
2 50
qM/ATEIR/E ?

1. |AB|=+47

, A frafafes & & =W

2. AB = BA

11

26.

27.

28.

T @ ™ e w1 wm | A IR
R

‘(a) Fa 1

(b) Fa72

.(c) 1 3R 231 8

(@ AarL, s a2

ﬂﬁa,b,c@ﬁﬂ'ﬂABCﬁﬁﬁTﬁ%,a}l

1 1 |

a? +b? ~c? WEip> 1,

(a) Tea FUITHS &

(b) HH HATHF B

(c) WA YH R

(d) =TS § AR 1 < p < 2 R HTHF

%'qﬁ'p>2
afe a, b, ¢ Al w@ €, 9 afe

l-a a—-b-—c b+c
1-b b~c-a c+a
1-¢ c—a—-b a+b

AR IS ?

(@ 0

®) (a-b)b~cHc-a)
(©) (@+b+e)

(d @+b+c)

aft frg oz, =144 R i=4C0, fag
zz=x+zy,3ﬂ%@TiE-—iz=5ﬁW‘Tch%,
at fomg 2,7 & 7

(a) 1+4

(b) 4+:

(cy 1-i

(dy -1-i

A - B-QGC-O-REY
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29. If sinx+siny =a and cosx+cosy=b, © Mm+1
c
then tan{%)-i—tan{%—ﬂ is equal 2
to (d) n+1
4, 34 2
(a) a——-lz'—bi—-i‘ti 32. The average of the coefficients of the
a’b”+b two middle terms in the expansion is
4 _g4 2
a —-b" +4b
- T 2Zn+l
(b) a2b2 +b4 (a) " Cn+2
(C) a4 —b4 +4a2 (b) Zrﬂ-lcv"l
a’h? +a*
(d) None of the above © ™,

30. A vertical tower standing on a levelled n
field 1s mounted with a vertical flag staff & "G
of length 3 m. From a point on the field,
the angles of elevation of the bottom and

tip of the flag staff are 30° and 45° 33. The sum of the coefficients of all the
respectively. Which one of the following terms in the expansion is
gives the best approximation to the
height of the tower ? (@ 2*"!
a}) 39 m
( ) (b) 4n—l
(b) 400m
() 2x4"
(¢} 410m
(d) None of the above
d) 425m’
L 4
. 34n
For the next three (03) items that follow : 34, The nth term of an A.P. is R then
‘ . - the sum of first 105 terms is

Consider the expansion of (1 +x)

: : (a) 270

3i. If the coefficients of x” and x™' are
equal in the expansion, then 7 is c_qqal to ®) 735
a) n
@) (c) 1409
2n—-1

®) = @ 1470

B-QGC-O-REV - A 12
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29. af¢ sinx + siny=a 3R cbsx+cosy=b,
amnz[z‘g}mz(g—y]mﬁm
27

at +b* +4b*
a*b® +b*

(a)
4 4 2

(b) a ~b" +4b
a’p? +p*

a* - b* +44?
a’s? +a*

d) S # A i 7E

()

30. T FHER HFR TF GUTT 2RIad 9 ot
2 | 3% FW UF 3 m =R &1 FwEhR
T £3 @gl T T R | e & it g
¢ tawee F oo R Y ¥ gEm @i
FAY: 30° AR 45° € | fafrfm A =lw
T &, AR A 398 w1 wataw afeme
AR ?

{a) 390 m
(b) 400m
) 410m
(d 425m

A I =W Aw (03) Wyt ¥ frg

(1 + 0" % R ® e fiftg

31, R # 7y o ™ F o I
a rfrad FE R 7
(@ n

2n-—1
2

(b)

13

32.

33.

34.

2n+1

{c) 5

@ n+1
TER & g 7eF qg} F et &1 it w4
27

Zn+l]
(a) ' Cn+2

(b) 2n+IC"
(C) 2.':+1C"_I

(d) 2 Cn+1

SR # gt 93l & sl F AREe T
27

(a) 22n—1
(b) 4a—1
{c) 2x4"

@ S A ¥ Fr T

iRt AP T nthwe 31'7'_' 2, d 9& 105
TG T ARTET T R 7

(@ 270

(b) 735

(c) 1409

(d 1470

A - B-QGC-O-REV
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35. A polygon has 44 diagonals. The number
of its sides is

(a) 1
(b) 10
{c) 8

@ 7

36. If p, g, r are in one geometric
progression and a, b, ¢ are in another
geometric progression, then ap, bg, cr
are in
(a) Arithmetic progression
(b) Geometric progression
(c) Harmonic progression

(d) None of the above

For the next two (02) items that follow:

Consider a triangle ABC satisfying .

2a sinz(g) +2c sinz(-g) =2a+2c-3b

37. The sides of the triangle are in
(a) GP
by AP
(c) HP

(d) Neither in GP. nor in A.P. nor in
H.P

B-QGC-O-REV - A 14

38,

39.

40,

sin A, sin B, sin C are in
(a) GP
(b) A.P.
(c) H.P

(d) Neither in GP. nor in AP. nor in
H.P.

117 21
If p=tan|———|, g =tan| — d
r n( 6 ) q l'l( 4 J an

r=cot(2863”], then which of the fol-

lowing is/are correct 7
1. The value of p x r is 2.
2. p. ¢ and r are in GP.

Select the correct answer using the
code given below :

(a) 1 only
{b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

The number of ways in which 3 holiday
tickets can be given to 20 employees of
an organization if each employee is
eligible for any one or more of the
tickets, is

(a) 1140
(b) 3420
(c) 6840

(d) 8000
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35.

36.

U A 1 44 Taaf § | ey sponat
T feret 8 7

(a) 11
() 10
(¢} 8
@ 7
Fﬁp,q,r@ﬂﬂﬁﬂ'{iﬁuﬁﬁ% IR ab,c

TRt gadt iR &t & €, &t ap, by, or
fore Aol 5 € 7

(a) |ATGR Hoit
(b) IO Ay
(c) 'Ea'(l'ﬂib'a“ﬁ

@ I A 4 = ¥

AT A AT B (02) WyAiw * fag -

37

2a sinz(—g) +2¢ sinz(—lzi) =2a+2c-3b
%! e F I T P 4BC W ¥R
Hifig

Proer Y gomd for Soft 3 E 2

(a)
(b)
(c)

GP.
AP

HP

(d) TRGPA, AV APH, AR HPH

15

38.

39.

440,

sin A, sin B, sin C feg it & & 7
(a) GP

(b) AP
(c) H.P.

@ TAGPH, A APH, s HpH

afg p=tan(——l%’),q=tan[£}1£] IR

r=cot[28;m), & Prafefie 3 & 2
qa/a w2/ ?

l.pxr STHA2 |

2. pgdRr GP.AE |

= @ ™ gE & oW W a9
i -

(a) ¥ 1

(b) Fa 2

(© 1#R23t &

(d FaL,ATE2

et o & 20 IR A 3 s
fewé frem wlal @ < s wa) &, Al

TS FHAR! U A1 e fewet & fau
T @ ? '

(a) 1140
(b) 3420
(c) 6840

(d) 8000

A - B-QGC-O-REV
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41. What is the sum of » terms of the 44, The number of 3-digit even numbers that
series «/E+«/§+«/ﬁ+«/§+ 5 can be formed from the digits 0, 1, 2, 3,

4 and 5, repetition of digits being not
allowed, is

n(n—1)
@ (a) 60
(b) 56
() V2n (n+1)
) {cy 52
© n(n+1) - (d) 48
2
45, If logg m+10g81=%, then m 1s equal
@ n{n—1) 6 3
2 to
(a) 24
42. The coefficient of x* in the expansion
of (x—1)(x-2)}(x-3)..... {(x—100) is () 18
12
(a) 5050 ©
@ 4
(b) 5000
46, The area of the figure formed by
(c) 5050 the lines ax+ by +c=0, ax—by + ¢ =0,
ax+hby—c=0 and ax -by-c=0is
(d) --5000
2
@ —
43. zZ2+(3-Dz+(3+i)z+1=0 represents a
circle with
(b) .2_‘3_2_
(a) centre (-3, —1) and radius 3 ab
N -2
(b) centre (-3, 1) and radius 3 © £
2ab
(c) centre (-3, —1) and radius 4 )
(d) centre (-3, 1) and radius 4 4ab

B-QGC-O-REV - A 16




41.

42,

43,

T 2 +8+4/18 +/32+... F 5 W&
T TRTRA T & 7

n(n-1)

72

(a)

)] \En(n+ 1)

n(n+1)

(c) NG

nin—1)

(d) 5

(x-1)(x=2)x-3)..... (x~100) F TR x*
1 AT TG ?

(a) 5050
(b) 5000
(c) -5050

(d) -5000

zZ+(3=D)z+B+)Z+1=0, T 9 HI
Tt war @, R

(a) Fg (-3,-1) IR = 32
() &= (-3,1) 3R B 32
(c) % (-3,-1) 3R Prsuy 43

d) F=(-3,1) 3R B 43

17

44.

45.

IV. CAREERINDIA

FH 0, 1,2,3,4 3 58 3 37 Fret et
T GG AT AT g5l 8, e sl
GRIgRT A€ H A 2 ?

(@) 60
(b) 36
(c) 52

(d) 48

afg logg m+10g8% =

T 7

() 24

, a1 m Tohaek SR

Wi

(b) 18

(c) 12

(d 4

46. Y@t ax+by+c=0, ax-by+c=0,

ax+by—c=0 IR ax—by-c=0 TN
St HTFHRT T STher T R 7

(a)

(b)

(©

(d)

A - B-QGC-O-REYV



47. If a line is perpendicular to the line
5x—y=0 and forms a triangle of area
5 square units with co-ordinate axes,
then its equation is

(a) x+5yi5x/5:0

() x-5y+5J2=0

(€) Sx+y+s\2=0

) Sx-yt5y2=0

Consider any pbint P on the ellipse

x2 yZ

48.

25

and s represent its distances from (4, 0)
and (-4, 0) respectively, then (r+s) is
equal to

(a) 10 unit
(b) 9 unit
(c) 8 unit

@ 6 unit

A straight line x=y+2 touches the
circle 4(x* + ") =+ The value of r is

49,

(@ 2

®) 22
{c) 2

d 1

B-QGC-O-REV - A

——+? =1 in the first quadrant. Let r -

18
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50. The three lines 4x +4y=1, 8x -3y =2,
y=0 are

(a) the sides of an isosceles tmangle
{b) concurrent
(c) mutually perpendicular

(d) the sides of an equilateral triangle

51. The line 3x +4y—24 =0 intersects the
x-axis at A and y-axis at B. Then the
circumcentre of the triangle OAB where
O-is the origin is

@) 23
by G, 3)
() 4 3

(d) None of the above

52. The eccentricity of the hyperbola

162 -2 =11is

3
(@) g

(b)

Ll Lh

()

| s

I en

(d)



IV. CAREERINDIA

47, uﬁ@i’@,i’@TSx—y=OWW%3ﬁ'{

48.

49.

frdars wedt & qrg 59 5 dwww &
s e st 8, 9 39 3@ 1 aHie
TR ?

(3) x+5y+5/2=0
() x—Sy+5v2=0
(c) Sx+yt5J2=0

() Sx—y+5¥2=0

12 y2 . ﬁ
T —+2—=1 T w4 =gafy

25 9

foret famg P ot R ifdrg | 7 ifte
r @R s HAM (4, 0) R (4, 0) ¥ T@H
it = fFrefig axa &, @ (¢ +5) fems
TR @ ?

(@) 10 ™R
(b) 9 WX
(c) 8 =
@ 6 =g

UFH WA [T x=y+ 2397 4+ ) = 2
ANEOf RO | rFAAFTR ?

(a) 2
b 242
(c) 2

(@ 1

s1.

52.

, 50. TR ETE 4x+ 4y =1,8x—3y=2,5=0

(a) Tt wwfiamg P & gond &
(b) waw €
() WER ¥F §

@ et waTg P 6t gemd &

W 3x+4y—24=0, x- A" B 4 R q91
y-38 F B R Feat 8, a Brw 048
&1 aRaw, et Onw fag &, 7 8 7

(@) (2, 3)
® @G, 3)
() 4,3)

(d) 3w A & FE 7

FET 165 - 9 = | 1 IkgaT W
27

(@)

wh e

(b)

w | Lh

(©)

LA |

(d)

|

A - B-QGC-O-REV




IV. CAREERINDIA

53.

54.

55.

56.

The product of the perpendiculars
from the two points (4, 0) to the line
3xcos¢+5Sysing =15 is

(a) 25
b 16
Y 9

d 8

If the centre of the circle passing
through the origin is (3, 4), then the
intercepts cut off by the circle on x-axis
and y-axis respectively are

(a) 3 umit and 4 unit
(b) 6 unit and 4 unit
(c) 3 unit and 8 unit

(@ 6 unit and 8 unit

The lines 2x =3y =-z and 6x=—y =4z
(a) are perpendicular

(b) are paraliel

(c) intersect at an angle 45°

(d) intersect at an angle 60°

Two straight lines passing through the .

point A(3, 2) cut the line 2y=x+3
and x-axis perpendicularly at P and QO
respectively. The equation of the line
PO is

B-QGC-0O-REY - A

20

57.

58.

59.

(a)
(b)
(©)
(@

Tx+y-21=0
x+tTy+21=0
xt+y—8=0

x+2y+8=0

The radius of the sphere

3 +3)P +37 -8 +4y+82—-15=0
is

(@) 2

b) 3

{¢) 4

@ 5

The direction ratios of the line per-
pendicular to the lines with direction
ratios < 1, -2, -2>and <9, 2, 1 > are
(a) <2,-1,2>
® <-212>
(c) <2,1,-2>

@ <-2,-1,-2>

What are the co-ordinates of the foot of
the perpendicular drawn from the point
(3, 5, 4) on the plane z=07

(@ (0,5, 4)

®) (3,5, 0

€ 3.0, 4

d (0,0, 4)




IV. CAREERINDIA

L *

s3.

54.

55.

56.

3 fagait (24, 0) ¥ @
3x cos ¢+ Sy sin ¢= 159 =9 =1 F
TG 18 7

{a) 25
(b) 16
) 9
@ 8
afe 7 fog & oA I 9 W 3 (3, 4)
?, @ 9% 99 x-¥@ AR 3w F T

Torarit-fopat v Ot 3ia: @el § FEaT
27

(a) 3 TE AR 4 T
() 6 TR AR 4 THTE
(c) 3 =K IR § @
@ 6 = 3R 8 =

WM 2x =3y =z AR 6x=—y=-4z
(a) =8

(b) I &

(© 45°%saﬁwthﬁlﬁ3ﬁ'a§
d) 60° F Fw w wheaka 3

firg A3, 2) @ TR ATt @ e Y,
W 2y = x + 3 3R -8 7 FA: PIR Q
TR AT FHe B | W@ PO HT R

R ?

57.

S8.

- 59.

(a) 7x+y-21=0
(b) x+7y+21=0
(c) 2x+y-8=0
(d x+2v+8=0
e

3 +3)A+37 —8x+4dy+82-15=0
ERE e o R

(@ 2
(®) 3
(©) 4
@ 5
<1,-2,-2> 3K <0,2, 1> ¥ -3t

AT @A R & G F - aad 70
g7

(@ <2,-1,2>
b <-2,1,2>

) <2,1, 2>

@ <-2,-1,-2>

795 (3,5, 4) ¥ WA z=0 R o oW
el 79 F g & s w@m E

(@ (0,5, 4)

(b) (3,5, 0)

() (3,0, 4)

d (O, 0 4

A - B-QGC-0-REV
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60, The lengths of the intercepis on the

61.

co-ordinate axes made by the plane
Sx+2y+z-13=0 are

(@ 5,2, 1 unit

13 13 .
=, =, 13 umt
(b) s

d 1,2,5 unit

The area of the square, one of whose
diagonals is 3i +4; is

(a) 12 square unit

(b) 12-5 square unit
(c) 25 square umnit

(d) 156-25 square unit

62. ABCD is a parallelogram and P is the

point of intersection of the diagonals. If

—_— —3 — —
O is the origin, then OA+ OB+ 0C+ 0D
is equal to

@ 40P
) 0P

© op

(d) Null vector

B-QGC-O-REY - A

22

63.

64.

65.

If b and ¢ are the position vectors of the
points B and C respectively, then the
position vector of the point D such that

BD =4BC is
(a) 4(?:—3)
®) -4(2—3)
(c) 42-3b

(@ 42+3b

If the position vector a of the point
(5, n) is such that |3|= 13, then the
value/values of n can be

(a) 8
(b)) =*i12
(c) 8 only

(d) 12 only

If || = 2 and | 3] = 3, then
|ax3[ +|3-3[ is equal to
@ 72

(b) 64

© 48

d 36




IV. CAREERINDIA

60. 9IS 5x + 2y + z -13 = 0 TR Ty ot

6l1.

62.

YT ST U 37d: GEf oht wealrs 97 § 7

(a) 5,2, 1%
13 13
—, —, 13

® <3 T
5 2 1

{c) ]_3—,’ E,E

@ 1,2, 5%

@ ot &), fae & feet 37+4) 8,
RTARE T § ?

(a) 123 &g
(b) 12-5 Tt w@rd
(c) 25 & =g

(d) 15625 [ =R

ABCD & waier wgiw @ ik p et
FiafR g Iak o whmeEa

04+ OB +0C+0D frad aem & 2
@ s0p
® 0P
© op

(d) = aley

23

63.

64.

65,

afd b ok 2 s frgat BaR ¢ % Rl

afewr £ famg D, 51 W 2 7% BD = 480,
Fr ferfy aea w2 2

(@) 4(2—3)
® (e-i)
() 40-3b
(&) 40+3b
afg fawg (5, n) T Rl wfey 2 =@ waw

FEE 2| = 13, T nF /S a9 91 A
Far /e /8 7

(a) x8
(b) =12
(c) FI 8

(d) Faer 12

afy |2| =23 3] =3,
|Zx3|2+|3-3[2%a%m% ?
@@ 72

(b) 64

(c) 48
d 36

A - B-QGC-O-REV
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66. Consider the following inequalities in
- >
respect of vectors q and b :

1. |a+b|<la|+] 3]

2 |a-blz|al-|3]
Which of the above is/are correct ?
(a) 1 only
(b) 2 only

(¢} Both | and 2

(d) Neither 1 nor 2

67. If the magnitude of difference of two

unit vectors is /3, then the magnitude
of sum of the two vectors is

(a)

l unit
2

1 unit

(b)
(¢) 2 unit

(d) 3 unit

68. If the wvectors ai‘+af+ykﬁ, i+k and

Yi+yi+ Bk lic on a plane, where o, B
and y are distinct non-negative numbers,
then 7 is

B-QGC-O-REV - A

24

69.

70.

(a)

Arithmetic mean of o and 8

(b)

Geometric mean of o and f§
{c)

Harmonic mean of « and

None of the above

(d)

- T -
The vectors a, b, ¢ and d are such that

R I i :
axb=c)><d and E’x?=gx;{). Which -

of the following is/are correct ?

L [z_;’]x(a’-z}ﬁ
- [ -+
2. [axb)x(cxd]=0

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2

Y

The value of

b 7 .
x' +sinx .
J-———dx where a+ b =0 is
COsS X

a

(a) 2b—asin(b-a)

(b) a+3bcos(h—a)
(c)

sina — (b—a)cos b

@ 0




66. @Ry 7 X b F Wy ¥ fr=fifea

- 67,

68.

saftEat w fEr R ;

L |a+b|<ld]+|3]

2. |a-bl2|d|-|3|

I d w1/ e 8 /E
(a) e |

(b) F 2

© 1323 &

(d TaL,TE2

gfe 2w wfiyt F siae &1 afmm A3
g, df 97§ wiewt ¥ avmee &1 afmmr
FTE Y

1
(a) Eaﬁé
(b) 1 T

(c) 2 3T
(d) 3 =

afe  afew  ai+of+yk, vk #R

YI"-I“}{]:‘-I-ﬁkT feret aae d fam %, EFQ'T :

a, B AR y firm (Rfew) woa semd €,
@y

25

69.

70.

IV. CAREERINDIA

(a) 3R B = THR W= B

(b) «3R B F TR 4T ¢

(¢) 3R B F1 Eeha: HIEA 8

(@) SoEeH # ¥ wE T R

Ry 7.5, ¢ d =@ wr & e

axb=oxd #W IxC=bxd 2|
frafafaa A S m/F s adi /8 7

L [a’_&")x['a_zJ _3
2 [a’xz’]x[zxz];a

T & ™ e @ W W e S
9fd

(a) = 1|

(®) Fa92

© 13R2341 &

@ FALTEL2

h 7 T,
X +smx 2
f dx H WA, T& a+b=0,

p Cos x

G ?

(a) 2b- asin(b - a)
(b) a+3bcos(b-a)
(c) sina-(b—a)cos b

(d o

A - B-QGC-O-REV




IV. CAREERINDIA

71. If f(x)=~25—x%, then what is
J(x)-f(1)
1

_r—.

Lim

X

equal to ?
1

a —_—

(2) p

1
® -

(c) V24

1

@

72. Consider the function

ax—2 for —2<x<-1
-1 for —~1=x=1
a+2(x—1)% for l<x<2

Jx)=

What is the value of a for which f(x) is
continuous at x=-1 and x=17?

(a -1
®) 1
(c)y 0

@ 2

l-sinx+cosx .
- is

73. The function f(x)=

1+ sinx+cos x
not defined at x = The value of f(n)
so that f(x) is continuous at x =« is

1
(a) =3

(b)z

B-QGC-O-REV - A
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74.

75.

(c) -1

@ 1

Constder the following functions :

1o
n f(x)z{x if x#0
0 if x=0

2x+5 if x>0
242545 0f x<0

2. f(X)={

Which of the above functions is/are
derivable at x=07?

(a) 1 only
(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

The domain of the function
1

Jx)= \f|x|_—x 1s

(a) [0, )

®) (=, 0)
© [1, @)

(d) (e, 0]




IV. CAREERINDIA

71.

72,

73.

Ilﬁ’f(x)=w}25~x2jﬁ
Lim _-——f(x)"{(l) forerd e & 2

X+l X -

@ »

5 74.

1
(b) EvY

(c) w/2_4

1
D -7

Tl
ax—2 e -2<x<-1
S(x)=4 -1 - gfe -1<sx=<1
a+2x-1)? 7R 1<x<2
R fam fifr .

aﬁ?ﬁ?ﬂﬁﬂﬁ?%ﬁf(x),x=—13ﬁix=l
WG § 7

(a) -1

(b) 1
() O
@ 2 75.
1~sinx+cosx
B f(x)=———— x=71 W
l+sinx+cosx
afemf €1 8 | f(n) &1 9 w1 & s|fn
fix), x=m WETT & ?
1
(a) ~3
1
(b) 5

27

(c) -1
d 1
frfofes wemt w A it .
1
L f(x)={-_f W x#0

0 afg x=0

2x+5 afe x>0

2 f(x)z{x2+2x+5 af x<0

ITH wEAl W @M d/% x=0 W
e (haea) 2/8 2

(2) el 1
(b) F2
(¢) 13R23Ht &

(d) Far1,7TE2

T £ (x) -

(a) [0, »)
(b} (-0, 0)
(€} [1, »)

(d} (o, 0]

A - B-QGC-O-REV




76. Consider the following statements

1. The function f{x)= #+2c08x is
increasing in the interval (0, )

2. The function f(x) = ln(\“-i-xz - x]

is decreasing in the interval (—oo, o0)

Which of the above statements is/are
correct ?

(a) 1only
(b) 2 only
(¢c) Both 1 and 2

(d)} Neither 1 nor 2

77. The derivative of In(x +sinx) with

respect to (x +cos x) is

1+cosx
(x +sin x)(1-sin x)

(@

l-cosx
(x +sin x)(1 +sin x)

l-cosx

(©)

(x —sin x)(1+cos x)

l+cosx
(x —sin x){1~cos x)

()

B-QGC-O-REV - A
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78.

79.

80.

IV. CAREERINDIA

N1+sinx +~1-sin x
'\/1+Sinx—\f1—sinx

If y= cot'l{

J

dy is equal to

where 0 < x < E, then
2 dx

r | —

(a)

(b) 2
{c) sin x + cos x

() sin x—cos x

2

: x° . .

The function f(x)=—- is monotoni-
e

cally increasing if

(a) x<Oonly

(b) x>2only

(c) O<x<2

(@) xe (o 0)u(2

If X% =(x-3)™? then the value of

Y Vi equal to
dx x

a
(@) "

®)
{c) 1

@ o




IV. CAREERINDIA

76. Trafafss st ) e Hiftm

78.

1. %M f(x) = x* + 2cos x, IR (0, 7)
F aefae g

2. Wf(x)=ln(*!l+x2—x),aiam
(0, 00y § GrEw & |

Sodeh F A /A Tl 2% 7
(2) ¥ I

®) w2

© 13dR23+ @

(@ T, a &2

77. (x+cos x) ¥ WY In(x+sinx) &
HEFAST AT R ?

1+cosx

(a) 80.

{x+sin x)(1-sin x)

l1-cosx
{x +sinx)(1+sinx) .

I—cosx
(x —sin x)(1+cos x)

(c)

l+cosx

(@

(x=sinx)(1—cos x)

29

79.

R y_cot_{\/1+sinx +4/l-sinx

Vl+sinx —1-sinx |

. d
W0<x<%,ﬁd—iﬁﬂ%aﬂﬁ%?

1

(a) 5

(b 2

(c) sin x+cos x

(d) sin x-cos x

T f(x)=§,wﬁea€fm=r%rr&

(a) FAFx<0
(b) ¥ x>2
() 0<x <2

) xe(-= 0)u (2, )

afe P =x-yt, R Y_Y o am

X X
o agar 2 7

a
(a) 3

(b)

(c) 1

@ 0

A - B-QGC-O-REV
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81. If f: R— R, g: R— R be two func-
tions given by
f(x)=2x—3 and g(x)= X’ +5,
then (fog)'(x) is equal to

- b

82. If 0 <a<b, then Imdx is equal to
X

@ |[b]-la]

® [a]-18]

1]

|a

() |

@ o
2

J‘sins(i) dx is equal to
o 4

83.

8

15
16

15
32

© 13
@ o

(@)

(b)

B-QGC-O-REV - A
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84.

85.

86.

: x=2 _
sin (e 1) . then
In(x—1)

Lz'n21 f(x) is equal to
x—

If f(x)=

(a) 2

) -1
) 0

@ 1

Consider the following statements :

1. f(x)=Inx is an increasing function
on {0, ),

2 f(x)=¢€ —x (In x) is an increasing
function on (1, «).

Which of the above statements is/are
correct ?

(a) 1 only

(o) 2 only
(c) Both 1 and 2

(d) Neither | nor 2

2
If s=+/t> +1, then %;g- is equal to

1
(2) 3
® -

(c)

i
(d) &




81.

82.

83.

afc f:R—> R, g: R— R & % &,
() =2 -33R g()=x*+5ga few
TR, A (fog) ! (x) TorerE RwR R 7

b
afz 0<a<h, A [ ar e s
X
27
@ |b]-]|al
® [a|-[5]

©

(b)

(c)

d o

3

84,

8s.

86.

@ =

l&:nnmmnm

_ sin (-1
e e T
Lim f(x) foro soeR 8 7
() -2
(b -1
() 0
@ 1
Frfafea st o far Hift .

1. f(x)=1nx, (0, ) R & Ftfae Seld
21

2. f)=¢-x(Inx), (1, ®) W TH
TR oM § |

ITH AT A FA A/ GEL B /8 ?
(a) FaFT 1

(b) +a 2

() 13230 &

@ F@ML,AE2

a5 =741, 9 O o e

1
(a) 3
b =

©) -3

A — B-QGC-O-REV
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87. Consider the following statements : 1
89. jx]x]dx is equal to

-1
Statement 1: The function f: R— R

such that f(x)=x’ for all (a) 0
x € IR is one-one.

2
® 3
Statement 2: f(a)=f(b) = a=b for ©) 2
all a, b € IR if the func-
tion f is one-one. d -2

90. The area bounded by the coordinate

Which one of the following is correct axes and the curve ~/x + \/; =1, is

in respect of the above statements ?

_ (a) 1 square unit
(a) Both the statements are true and
Statement 2 is the correct explana- (b) i square unit
tion of Statement I. 2

1 :

(b) Both the statements are true and (c) 3 squarc unit

Statement 2 is mof the correct

explanation of Statement 1. 1 )

(d) P square unit
{c) Statement 1 is true but Statement 2

is false. .
For the next two (02) items that follow :

(d) Statement 1 is false but Statement 2
1s true.

Consider the function

252
|
f{x) =(—] , where x>0
X

dx .
88. I = is equal to ‘
91. At what value of x does the function
attain maximum valus ?

(a) e

(a) 1+e"+c

) In(l+e)+c

=

| (v)
(©) In(1+e)+¢

(©)

-

d 2In(I1+e)+ec

f

where ¢ is the constant of integration @
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87. fraferfea Fomi w faw ifrg .

88.

FaA | W f: R— R T VR & T
f)y=x, aft xe RS for,
ude ¢ )

T2 f(@)=f(b) = a=b WM q, b
e R aﬁﬁq,qﬁ;qﬂﬁfqaﬁpf
21

I FoAl & e § frfafea d e m
UF TE R 7

(a) Sl Fa Ged € IR T 2,999 1
EE:ER= e

(by Bt Haw weT & IR w2, T 1
i we! sTEar wEk § |

(c) I 197 & ifte oA 2 3w

d T w2 @ # |

J' dx fores TR R 7

I+e™
(1) 1+e +¢

(b) In(1+e)+c

¢} In(1+e")+c

@ 2In(l+eM)+c
ARl ¢ TTHAT =L

33

89.

90.

1
J.x|x|dx frosh SR % ?
-1

{a) 0

2
(b) 3
(c) 2

d) -2

7% Vx+y=1 sk Fdus s T
TRagy &% foran § ?

(@) 137 =i

(b) %arfsavr%
(© %aﬁaa—r%

(d) -éavfz‘m"r%

AT AT TT 2 (02) Vet & fog

91.

21‘2
e f(x)=[ﬂ st x>0, T B

ifirg

& 58 R R 78 v afteas 5 wm

AR g ?

(a) e
b e

1
(c) $

@ -
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92. The maximum value of the function is For the next two (02) items that follow :
(2) e Consider the function
2 fx)=-2¢ -9 ~12x +1
(b) e
1 95. The function f(x} is an increasing func-
(c) e tion in the interval
@ < @ 2-1)
e
) (-, -2)
For the next two (02) items that follow : © (-1, 2)
2
Consider f'(x) =3‘-2——kx+1 such that d (-1, )

0M=0and f(3)=15
7O ! 96. The function f(x) is a decreasing func-

93. The value of k is tion in the interval
(@ =
3 (b} (-, -2) only
® > (c) (-1, ) only
(d) (_ma —2) U(_l’ 00)
5
¢y —=
(c) 3
For the next two (02) items that follow :
3
@ 5 Consider the integrals
n 4
sinx dx _t sinxdx
94 fa( 2) : A= sinx+cosxandB--|.sinx—cosx
. —=| is equal to o 0
3
(a) -1 97, Which one of the following is correct ?
1 a) A=2B
®) : (a)
by B=24
1
© 3 (©) 4=8
@ 1 (d) 4=23B
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92, 30 WO T A(UFHOR A TR ? AW AR TR I (02) WA & forw
(@) e T f(x) =2 - 9% - 12x+ |
2 W fear difi
b e°
L 95, e £ (x) Fore e @ 9w o
(c) e° 27
@ % @ 2, -1)
(b) (-oo, -2)
HAET A AT A (02) Wyt & fr . © (1,2
2 ' | @ (-1, o)
f'(x)=?—kx+lq(ﬁﬂiﬁﬁqvﬁﬁ
s 2 5 £(0) = 03K £(3) = 15 96. ;maf(x)%ﬂmﬁ@gww
?
93, LS HF TR ? () (2, -1)
(a) % (b) FF (—oo, -2)
. (c) W (-1, 00)
® < d) (~o0, -2) (-1, @)
s
(c) -3 T AR AT T (02) WAt F g .
(d) ...._z_ mz‘i=j£ .sinxdx
Osmx-i-cosx
o-2 _[_sinxdx
o4. f(-2] e mcrme # 2 B e ™ P i

(a) -1

97, fraffm s a ot 2 2

)

() =
@ 1

35

(a) A=2B
(b) B =24
(c) A=8

(d 4=23B
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98. What is the value of B?

T
4

(a)
(b) 7

KFia

4
d =

(©)

For the next two (02) items that follow :

Consider the function

. . n
—2sinx if xs.—i

f(x)={Adsinx+B if —%<x<-72£

ifxz L

€os x
2

which is continuous everywhere.

99, The value of 4 is

(@ 1
() 0
€ -1
d -2

100. The value of B is

(@) 1
(®) 0
(¢) -1

@ -2

B-QGC-O-REV - A
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101.

The degree of the differential equation

dji a dy -
dx x—[y xdx] s

(a) 2
) 3
(c) 4
@ 5

102, The solution of

103,

(@ sin'y= sin"'x+¢
{b) 2sin"y=w!1—1c2 +sin"'x+c¢
(©) 2sin”'y=xv1-x* +sin”'x+c

(d) 2sin'y=xVl-x? +cos'x+c

where ¢ is an arbitrary constant

The differential equation of the family of
circles passing through the origin and
having centres on the x-axis is

d
(a) 2xy_y = xz —y2
dx

dy
2xy—=—=y"—x
xya’x y

2

(b)

(c) Zx_yifz = x° +y2
dx

@ 2xyj—i+12 +y2=0
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98. BT W T R 7
@ 7
® 3
© =
@ =
HTR A T @ (02) Wyt & R .
e
~2sin x uﬁ:xs-%
f(x)={Asinx+B ﬂﬁ'——g<x<%
| cosx TR xB%
Tt e Hod §, W R fifrg
99, A F UM FTE ?
(@) 1
(b) 0
(c) -1
@ -2
100. BH AR FT R 7
(a) |
(b) 0
(¢) -1
@ -2

37

102.

103.

%le_xz I
(@) sin'y=sin"'x+¢

(b) 2sin”'y= \f]——,vc‘?+sin'lx+c

(c) 2sin’'y= xm +sinx+c

(d 2sin”'y= xm +cos x+c

TEl ¢ TF W@=5 a2

A fag & TR @ ok s wod
a1 gt & el (Ffael) o s g
TR ?

d .
® 2% =yt
dx

© 2P =xisy?
dx

d
() nyd—£+x2 +32 =0

A — B-QGC-O-REV




&AREEHINDIA

104. The order and degree of the differential 107. Two events A and B are such that
equation of parabolas having vertex at P(not B) = 0-8, P(AuB) = 0-5 and
the onigin and focus at (a, 0) where P(A|B) =0-4. Then P(A) is equal to
a > 0, are respectively ‘

028
@ 1,1 (@)
) 032
b) 2,1 ®
(¢) 038
) 1,2
(d) None of the above
@ 2,2
108. If mean and variance of a Binomial
105, f(xy) =f(x) +f(y) is true for all variate X are 2 and 1 respectively, then
the probability that X takes a value
(a) Polynomial functions f greater than 1 is
(b) Trigonometric functions f (a) 2
3
(c) Exponential functions f
4
s . b <
(d) Logarithmic functions f° 5
7

106. Three digits are chosen at random from © 3
1, 2, 3, 4,5, 6, 7, 8 and 9 without
repeating any digit. What is the proba-
bility that the product is odd ? o 4

@ 15
(a). ._2.'. ’
3 109. Seven unbiased coins are tossed 128
times. In how many throws would you
.. ‘ find at least three heads?
b
48
(a) 99
© — by 102
42 .
(c) 103
@ —
108 (dy 104
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104. 37 et o, Rranr oief weiferg w @ sk

WiHH (a, 0) | 2, &l ¢ > 0, 3@
avftan it B AR T FAw: =W E 7

(a) 1,1
b 2,1
) 1,2

(d 2,2

105, () =1 (x) + f(y), "t

106.

(2) @gTe Bert £ 3 fog v @
(b) Prerroifirdia wemt £ & fore oy 2
(c) SRETaR weRl £ F fog o

(d) UEHRE weE fF o wa R
1,2,3,4,5,6,7,8 3R 97 A iw 3w, fomr
foret s it TREf %, WEewT:

mﬁ%lwmﬁw%%mﬂ“ﬁw
faram & 2

@ 3
® =

© 5

d —

107.5 wd 4 3R B W wer ¥ %

108.

109.

P(not B) = 08, P(4UB) = 05 3R
P(A|B) = 0-4, 7 P(4) foreds s &

(a) 0-28
(b) 0-32
(c) 038

(d) ST A & w7
afe fret fiwe fome & & mrer si s

FA: 230 1 €, 9 7 wirwar & 5y =
TR 1A ALY ?

[N N

(a)

w| B

(b)

7
© 3

11

(d) T6

1T i et &Y 128 IR F@wn T |
frem SoE # 99 O = I Fra R 2

(a) 99

() 102

(c) 103
d 104
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110. A coin is tossed five times. What is the
probability that heads are observed more
than three times ?

3

a JR—

(2) 06

5
® &

|

© 5
G 2
) 32

111. The geometric mean of the observations

X, X5, X3, ... X, is G;. The geometric
mean of the observations y|, y,, 5, ... ¥,
is G,. The geometric mean of observa-
x X, .
2, 2is

Va

a2
3 >
B Y2 ¥

(@ GG,

tions

(b) In(G,G)
Gl

(c) ey
2

(d)

112. The arithmetic mean of 1, 8, 27, 64, .....

up to n terms is given by

n(n+1)
2

(2)

nin+ l)2

(b) 5

B-QGC-O-REY - A
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113.

114,

n(n+1y°

(c) A

HZ(H+1)2

(d) 2

An unbiased coin is tossed until the first
head appears or until four tosses are
completed, whichever happens earlier.
Which of the following statements is/are
correct ?

1. The probability that no head is

observed is L

2. The probability that the experiment
ends with three tosses is l

Select the correct answer using the
code given below :

(a)
(b) 2 only
(c) Both 1 and 2

1 only

(d) Neither 1 nor 2

If x € [0, 5], then what is the proba-
bility that ¥’ —3x+2207

4
(a) n
b -
(cy -

3
(d 3
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110, et R 1 i 9R IeEn sEr R | de

112.

Y

©

’ 111.

TR & sifte fra s & s wifian @ 7

(a)

(b

@

FET x, X, Xy, oo 1, T PORR BIEA G, B |
ﬁ!‘ﬁuﬁyl,yz,ys, v Y, ST IJVH?R’W Gz% |

Joolt L2050 Ao i
YoV ¥s Y,
ey /T2 7

(@ GG,

® In(G,G)

G
© =
2

G
orfg

1, 8, 27, 64,
Ty JT 8 7

n(n+1)
2

n(n +1)?

() 3

41

113.

n{n + 1)

(c)

n(n+1)?

(d) 2

foreft sfira foad =1 ogen g s O
A AR I [ B T, W I |,
ot w § | fefefee et § @

S ERm/ R/

114.

1.%333@?&%%%1
2. WIN & diF goTE § wae g ot
mﬁaﬁr%%l
A9 f@ W g W W W FE W

3f .
(a) Fae 1

(b) Had 2

(¢) 1323t &

(d sa,TE2

e xe[0, 5], O w1 Wil & f%

¥-3x+2207

4
(2) 3

1
(b)g

{c)

v

(d)

LA | e
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116.

117.

A bag contains 4 white and 2 black balls
and another bag contains 3 white and 5
black balls. If one ball is drawn from
each bag, then the probability that one
ball is white and one ball is black is

3
24
13
24

(a)

(b)

(©)

@

A problem in statistics is given to three
students A, B and C whose chances of
solving it independently are £, + and +
respectively. The probability that the
problem will be solved is

(a) 1
12

11

(b) o

()

(d)

An insurance company insured 2000
scooter drivers, 4000 car drivers and
6000 truck drivers. The probabilities of
an accident involving a scooter driver,
car driver and a truck dniver are 0-01,
0-03 and 0-15 respectively. One of the
insured persons meets with an accident.
The probability that the person is a
scooter driver is

1
(a) 32

B-QGC-O-REV - A
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118.

119.

120.

&AREEHINDIA

3
(b) =
15
c) —
( 52
19
4y 2
(d) <
A coin is tossed 5 times. The probabi-

lity that tail appears an odd number of
times, is :

(a)

b | —

(®)

Ll W —

(©)

1

d 3

The regression coefficients of a bivariate
distribution are —0-64 and —0-36. Then
the correlation coefficient of the distribu-
ton is ’
(a) 048

(b) -0-48

(c) 050

(dy —0-50

What is the probability that the sum of
any two different single digit natural
numbers is a prime number ?

S

27

7

18

1

() -

3
(d} None of the above

(a)

(b)
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I e i

- - T

15, T %1 3 4 w3 2w E AR TR

116.

117.

¥ & 37 S T B E | 4R wew
It 7 | U g frmeht v ot e i Wi
AR T AT FI € Y AT Wil @ 2

(a) —
by -
(c)
(d)

wiferht &1 0 wed o frenfifat 4, Bofk

€ = e o 2, s 5 weT v A g

FA R e e L, L ek L E
W & &9 B Y T Wil 2 2

(a)
1
i

(b)

sz Sl-

(c)

(@

Bl M-

T ST &9 ¥ 2000 Thet T, 4000
FR TR 3R 6000 TF TS FT AT
o | T W, R wwE ok 7w
MEh & gHe Wed B ) wifdeand
FAN: 0-01, 0-03 K 0-15 & | &7 oR
=Rt & & foFell o it gl B ol @
36 = F R TwE B ity
TR 7 :

1
(a) Py

43

118.

119.

120.

3
52
15
52
19
52

()
(€)
@

i ot ot a) Seren s 2 | frw
TR 9 I FY wifiraar == @ 2

(@
(®)

(c)

(d)

foraft feme sz & wwmmmw 7ois —g-64 3k
-0-36 % | ¥ =T W1 TEEEY TONF T
2

(a) 048

{b) —048

(c) 050

@ -050

& @ - & s Al
AT & TUTRT F FAWT GG B A
1 Wileran & 7

5

27

7

18

1

(c) 5

(@ S # A F T
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